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COMPUTER COMMUNICATION

freaifea wog . d7 92 ) [arfiramerT 3t 70

Time allowed : Three Hours| [Maximum Marks : 70

e

Note :

(1)

(111)

(iv)

(v)

(i) waw g sifard 8 vig 4 § et aie & 3w gl |

Question No. 1 is compulsory, answer any five questions from the remaining.

(i) YEF gvT & GO 9P # FHGN 0F 1Y g P |

Solve all parts of a question consecutively together.

(iii) Ued% F¥T F 77§ T G B |

Start each question on a fresh page.

(iv) & arEt # dw g &1 Rty 7 sist srqa g e o

Only English version is valid in case of difference in both the languages.

22l forh wia & &i¢ an % fafaa |

Write any four functions of data link layer.

BISDN ¥ foy wabr =t frafam 3ugim &t et & |

What type of switching is used in BISDN ?

3w fafy &1 97 T & foand g %hn a9 veies T FI U {4y 1@l S 8 2 a9 |
What is' the name of the method to combine a data frame. with an
acknowledgement ? Explain.

f=fafiaa e o fae ws Fifw |

0OOITLIITI001111101000

Bit stuffing the following data :

0001111111001 E1101000

URIAREA % aftafye g )

Define Pipeline. (2%5)

(9) P.T.O.
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2.

[V

6.

()

(ii)

(i1)

(1)

(i)

T3 & fafy=t vt = sl &ifag
Explain different parts of Router.
wArefan fauet #1 srEmr Hed Afvwan FHiE | U FH w6 6T ¢ 2 IHER |

Why size of sliding window is one less than to its maximum sequence number ?
Explain. (6x2)

dt 37 U9 S O AU U A% O ¥ ¢ | fae wife

Distinguish between BISDN and NISDN .
h%mqﬁ{\‘?%‘.\'5+x4+x+ | oY Y qgUE & + |

Tireget.2 ST 1 IUANT A U H R Fi T TS HIT WA HA |

Given that data unit x7 + x° + x* + x + | and Generator polynomial x* + 1. Find
the CRC and polymonial code using modulo-2 arithmetic. (6x2)

| fafir=r Feafen aaiel o G anferst st Fi |

Differentiate among different switching techniques in tabular form. )

wiEfen fag®t Widaia &t fag®! & e 15 & o wuie ofonfee = & fog s
farza =t smaregssan gl ?

A sliding window protocol uses a window of size 15. How many bits are needed

to define the sequence number ? (8)
frerfefae & aofq sifad
Explain the following :
(i) W@Wy

CSMA
(i) Hoyway- e

CSMA-CD (6x2)
(i) Forelt 2 Fordferer ereor et bt ot ifad

Explain any two guided transmission media.
(i) vt Frafror =t fafir yronat @ aofa #fR

Explain various concepts of routing. (6x2)

-
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(i) urEEt qur Hte et Igat F g SRR |
Compare transparent and source routing bridges.

(i) /A H, a ST, - N eE. A e B e S |
Compare TCP/IP and 1SO-OSI model.

e & @ fedt ot W wifera femfordt forfed
Write short note on any two of the following :
(i) wadioad

HDLC
(i) IIWE GEor

Satellite transmission
(iii) wAfEN

Flooding
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(6x2)

(6x%2)

woddupuon)ammar//:dyy



